2lM)BE)Raj0a]

Que.l.
D R c
S Q
A P 5

ABCD ag)(m al@®@@om1mMen mI18o 8 amu.a’). Al 6 emu.a’. @ 1men
AUW6BR8OS AW IMNIIMIHH U3 cWILal2ea]oud aI€]a] PQRS ag)(m
VA EIZNVIAINDID 1O M0 [Marks :(2)]

Ans. a) O @eMeBRE)6S M1B6613U3 EI6M)bb.

b)PQRS MO al@a]8 af)(®?

Ans. a)1@eMeBRs16)S M1868RU3 8cm , 6 cm
1

b)PQRS MO ala8N] = 2 x8 x 6 =24Sq ..cm

Que.2. B8YMARIZMININNO 1HOM M0 630) Nils:demamImen mIlso
26 cmal@]8NI 260 al. M.2°1ERYWIMB3 PENIASDD NilHHGeM@M 1M
M°180 &HI6MYHH? [Marks :(2)]

Ans.

I‘\.1||—l

X dl xd2 =260

I‘\.1||—l

X 26 x d2 = 260
260
d2= 13 =20cm

Que.3. il BeMeBR8)6S M18681BUB 12 cm, 16 cm CUI@AIW 63@)[Marks :(2)]
MAERIZMIAINDIE 1O MO0 AlES8OI BI6M)d:?

1

Ans. al@gJ8Ni= 2 x 16 x 12 = cm"2
Que.4.



JEA

VORI 1o ABCD@ @3 AB = 10cm, BC = 8 cm. AB, CD 90U M 1e)8s
@0 HLIo 4 cm @R [Marks :(3)]

1. MIAIN°1dho ABCD YOS nJ(bgzlg(il' »HI6IMYBH?

2 AD, BC 00U IR 121)SBS @R HHLI0 d>I6M)d:?

Ans. 1.0000200M@ 180 ABCD @)6)S al@ad80) = 10X4 = 40cm2
2.AD x @10d»hElo = 40

40
@oerlo= 8 =5cm

Que.5. afl(@ @611 AABD, ABDC 8901 M)L1Y (1G5 I6MEBREI6M). DC = AB = 10
cm, D @1@3 MM} ABQ1GRIHNBS @0d:Llo 4cm. af)9: 100 [Marks :(3)]

1.AABD @}6)S al@{80] af)(®?
2.ABDC@AS al@|8Ol af)(®?

3. D P60 Cal@®V) (U2J36N2ILNIM (MVIAIN® 1B 0 ABCD @INS
al@80]1 ag)(®?

ANAVAR!

L
2

Ans. 1.AABD @)&)S al@a]80] = 2 X10 X4 = 20 cm2



2.ABDCQ)6)S d@gﬂ@(ﬁ n=20cm2
3.0092900@ |0 ABCD QS nJ(Ogj@(il’ =20+ 20 =40 KL
Que.6.

A M B
2@ @3 ABCD 603 MA@ 1£,096M. ABY SloenAd6m CM. AB = 10
cm CM = 6 cm @R)@I(®3 [Marks :(3)]
1. AABC @)&)S al@a|s0] ag)(®?
2.AADC @)6)S al@8NI ag)(®?
3.09290M® 1o ABCD @IS al@SO ag)(®?
1
Ans. 1. A ABC @)6)S al@a]80 = 2 x 10 X 6 = 30 sg.cm

1
2. AADC @)6)S al@e]830] = 2 x10 X 6 = 30 sq.cm

3. ABCD Q&S al@a8Ni = 30 + 30 = 60 sg.cm

Que.7.

C dcm P

D 4cm Q
5cml/ l/
A B

2l@)@o0 ABCD @1@3 AB =8 cm, AD = 5¢cm, 21@3@@® @3 M1tmM)o afl (@@ 1eel
@RSN)HS)8S 630) ASIM1CHI6Mo 6303 BINEMIM MM ?@)016)2JS) @10
QOYEINDED Cal@OmNa] alM)BE}Ro ABPQ M1@axay]. [Marks :(4)]

a) ABPQ ag)M al@@E}2Om 1M @oMICWIRINIW Cale)RND)?
b) al@®)®@o0 ABCD @)AS al@8N] af)(®?
¢) ABPQ (lMeN al@o|860U(®?



d) AB = b cm, BC = h cm@R@9@3 ABPQ A1Me0N al@a|86 @@ 1@ 1H860)07?
Ans. a. MBI B0

b. ABCD @)6)S al@a8N = 8 X 5 = 40 sq.(MJ lag)o

c. ABPQ N10&0 al@a]8N = 40 sq.cm

d. ABPQ (i 1MeXN al@ed80l = bxh = bh sg.cm

Que.8.

A B

2O @3 ABCD 630) NI 1HA6M. AD @ LloenIMI6M BE. DE = 2cm .
A ABD@)OS al@e]8N]I 66 cm2 .BE = 12 cm @Q)@9(03 [Marks :(5)]

a) MIMIMM@°1Ho ABCDQIAS al@8N] ag)l®?
b) AD @)6S M°180 ag)(™?
c) AB, CD ag)M°l (U26BRU3 @M 1288 @R E:Llo af)((®)?

Ans. a) TVIROD@) o ABCDQYAS ala]B0) = 66 + 66 = 132 cm2

132
b)ADXx12=132 , AD= 12 =11
C)AE=11-2=9
AB2 =122 + 92 =144 + 81 =225 , AB = 15

132
AB, CD o)l (UU06BRU3 @I 1PRBS @oHLlo= 19

Que.9.




.
2lM)EoABCD@I@3 AB@&S mwenln3yuoen’ p.”? = 37°

a) AB = x 90 AD=y@}o @R)QIB3 al@}@0ABCDDIAS al@a|8NI af)(0)?
b) 2l@)BEIZoAPQD@ HH @RMICWILINIBl® MDBdH)dH?
c) al@)BERIRoAPQD @IAS a8 B>96M)dH? [Marks :(5)]

d) 21@EO®1MEIN alEa8ATMEN af)(® EINAIEM alM)BE}R0APQD @INS
aleosnl?

Ans. a) xy
b)lo6rndho

(e de) = B

=

d) I?*.h.



